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VI Semester B.Com.3 Degree Examination, September - 2021
Modern Auditing and Practices

(Repeaters/Regular)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

1)  Answer all the Sections according to Internal choice.
50808 SO3 WD, DR, HPNRYR LOZOR.

2) Section-D is compulsory.
Qn - D 5080 53,0308 5559 030:oN3S.

SECTION - A
QPN - D
Answer any Ten of the following: _ (10x2=20)
FINSINYY, Iezor TR FJR9rR wZOAD.
1. a) What is Auditing ?
SETOZRTI 0BT ?
b) What is Fraud ?
WoWS Q0TTE 2
c). Who is Auditor ?
SEHogRtE aond aindd 2
d) State the statutory qualification of an auditor.
S3BORRGES BRI, BTFS TewO.
e) What is audit programme ?
FETOIRGFD FoODF BT DOTWTERD ?
f) What is internal check ?

30308 333 0TV 2

[P.T.O.
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'g)> What is voucher ?
S8 20TBed ?
h) What is Tax audit ?
307 0RATS 0TS 9
i) What is Test checking ?
50308 3TRE 0TV ?
j)  What is qualified report ?
sgesmo W00 QOTBEI ?
k) State two contents of Audit Report.
SYROsReTT FTOOH A0B> BRIy, Beo.
) What is audit note book ?
SIROBRERID BT Y DTSR ?

SECTION - B
NN - W
" Answer any Three of the following. ’ - (3x5=15)
den @awedd IFnen svgore. | k'
2. Explain the objectives of Audit. -
SEE0ERGHD GVI3EBReR), DFORD.
3. Distinction between auditing and investigation.
_dﬁﬁwbéfaetﬁﬁ W0 BSNLYZ T3, 3 HWORD..
4. Explain the objectives of vouching. '
THRRED Sedne TOdewIod LVTEBNTRY QTOAD.
5. Explain the contents of audit report.
| S3RodReERaD [ORH SEINYRY DWORD.
6. How do you vouch the credit sales ?
QOG0 RRToE[RY Ben TPEFOROR0 ?
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_SECTION - C |
N - A

Answer any two of the following: | ' ~(2x15=30)

Wesons 0@ TFnent SUBORD.
Explam the advantages and limitations of audlt

- SBHORRROL eRyind) BB QENYS), D[R,
Explain the qualifications and qualities of an auditor.

SEHOBRTES WHFINTRY WX MOrNIRY HFORD.
As an ‘auditor how do you vouch:

TR Wy, STTOZRGEIN, B3 wns@ne;m Ben "‘béeoé SIRBODD.
a) Cash purchases

[N Doed

b) Debtors

AOOMOTT -
c) Salaries

SSeried
Define audit report. Explain the features and importance of audit report.
SHTOIRGF TORD T2, BORD. BT MHrLRRYEY ST BBIFRY HIORD.

SECTION - D
. ‘ ATADT s S 7 | :
Case-study (Compulsory) : - | (1x15=15)
=,3080 e:aas#o:baf (B 0demNTs)

~a) A transaction of cash purchase of furniture has been taken as cash purchase .

of goods.

2TBRETFOL SN DOD dﬁmdwm [N TN aabea 20T W3NG,

b) Credit purchase of goods of Rs.50,000 was entered in the purchase book as
Rs.5,00,000.

de. 50,000 $REI wvd, ;JOeaodm% oD FIFSY, Ge. 5,00,000 0TH
WBo&NT. :
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¢) An item of wages of Rs.20,000 was posted to General _Expensés' Account.
- 8p. 20,000 800 TO@BODI), RN, DFS W wicdTRn.
d) Cash sales ,gf Rs.10,000 has not been recorded in the cash book.
de. 10,000 883 SN BROTFY, I YIIEQ, AlelevelopT R
¢)  Rs.5000 printing bill paid is recorded in salary register.
S, 5000 BNG,H VO WIS ARAGDR), BT T[S TEITRES, IRLAKCRNS.

As an auditor, answér the following questions.

QY W), ‘cﬁmzﬁmdsmh 33 9N a;ﬁqﬂ@ﬁ e300,

i) mention what type of errors are committed.

T olns OGE IPnd DO BeYO.

ii) What action will you take to rectify such error.
oRnied ROwOPAT SYRYRY, Bert T TR 2
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VI Semester B.Com. 3(F) Degree Examination, September - 2021
INDIAN ECONOMICS
(Regular)
Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:

1) All sub-questions should be answered at one place continuously. Quote
facts and figures to support your answer.
DR LUB-F, 3NN 0T FHEM VBT WICWO. R T 08 LOBNERON DT
VBTNFTY, FSOPFAD.

2) Answer to all sections should be written in the same answer book.
QR DLPNNRY LVSTNRYR), 2.053¢ VT B, 3050, WICWD.

Section - A
NN -
Answer any ten of the following questions in 2-3 sentences each.(10%2=20)
NS CIRYTOTSR TL) [IRR 2-3 TYNVY, Kv30RD.
1. a. What is capitalist economic system ?
WORWTIE& BSOFT aséﬁﬁq) 0TITERO 2
b. Give the meaning of developed economy.
eﬁzpq)&c); BROOT wqﬁrqsa’)::;db SHPEBI), TRRO.
c¢. Expand HDI
HDI o), HI0%0.
d. What is national income ?
Oo&e0D TR QOTTE ?
e. Give the meaning of Globalization.
EIONSETOLIT @qﬁrd&g{ BRRO.
f. Define demographic dividend.
prranlelaiove) mzpaoeﬁwag 39,839, Q0.
[P.T.O.
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g.

What is economic planning ?

Clal Mesiole~ty aoﬁdém ?

Define public finance.

TOBFHIT BESTORDY, 3, I NVAD.

Give the meanihg of budget.

Wooniod @[T BFE JeRD.

What is statutory liquidity ratio (SLR) ?
ORI, B3 SR 20T 2

Give the meaning of inflation.

B3TROT SHPFRS, TORD.

- What is monetary policy ?

TeATOAT QeE 0TTe> 2
Section - B

Wyt - W

Answer any three of the following questions.

3BT tIe5or ot JInent euZdRD.

2.

~ Explain the structure of Indian Economy.

ADTeTIa] aaﬁr@dﬂ@eoﬁa RERTITY, D[ORD0.

Explain the determinants of density_ of population.
2RRR0G SRy, NGFORE BoBRYRy HTOD.

Discuss the objectives of XI* five year plan.

XI* Sorkmars clpensod euciesnvay Hm0R0.
Write a note on sex-ratio in India. |
RUSTYR DorodTZ B0 E3TEY WICWO.

Define poverty. Mention the causes of poverty.
WBITIDY, 9,0 WRIIT TICEINTRY IRWDAD.

36624/F240

(3%5=15)
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A
Section - C
o - 8
Answer any two of the following questions. - - (2x15=30)

NSV, Bewom 208 CuBORD.

7. Explain the basic characteristics-of Indian Economy.
0sa wEFEEIch Saew oYgIivay STOND.
8. Explain the difficultics in measuring national income of India.
0 Toagodd SORRITR, BdokoTR FETTHT SRoBERYRY DBORO.
9. Expiain ‘the different sources of revenue of control government.
$e0s3, NOTOE BT DG FRONFRY, DORD.
10. Explain the achievements of Indian five year plan.
(AR In] wowmrﬁ odnendodd mqﬂa”ﬁfé:g DTOAD.
Section - D
ogn - B
Case let : - 3 (1x15=15)
11. The decadal population growth fall to 17.64% in 2011 from 21.54% n 2001

“census. The literacy rate climbed from 64.83% in 2001 to 74.04% in 2011.
India has 2.4% of world land area and 16.85% of worlds populatlon India
continued to face the problem of population.

Questions :
a) What are the causes for rapid growth of population ? (08)

b) How population growth has a negetxve impact on the economic
"~ development? 03) .

¢) What is the percentage of reduced growth rate of population during .
2001-2011 ? 02)

d) What is the percentage of increased literacyrate during 2001 : 2011? (02)

[P.T.O.
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AS OB RRS:

CESR[E BIR0W gt ©3 2001 T neadodd Be. 21.54 dow 2011 T
wINE0NY, Je. 17 64 3 aPoluB. |We LTECDY, I BB BT Be. 64.83 olela
Be. 74.04 § 20D, PO wHIT BT 2.4 UW), G FHeI[™ BT wndI
zsa“oaﬁ o wass 16.85 o, T=0esY BRODT. zpadéa;i) z:ai"om RS 03,
ambﬁo@m Bo0orF3HT. .

3N : |

2) mERomod 363 WVRHAR wOPRR 7 (08)
b) wR0s) BURHR wPFE LoD Hoed Berk SE00g8 WO 26T 2(03)

¢) 2001-2011 T eBHoHY, w0, PeBBE 5O BIBP am), TIRGIW,

3B00IRAS ? | | 02)
d) 2001-2011 O eRQAHY, IIE BB B3I ), YR ? (02)
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VI Semester B.Com.3 Degree Examination, September - 2021
Goods and Services Tax
- Paper-HI
_ (Regular/Repeaters)

Time : 3 Hours , Maximum Marks : 80
Instructions to Candidates: o
1) Answer all the Sections according to Internal choice.
50308 &303), T390 DPNRTR), L0300
2) Question No.l1l in Section-D is compulsory.
- oyen - @ (D500 ©9g,000]) FEed.
3) Simple calculator is allowed.
RoY 208 Roo3RERICING NEaBRR), LUTCdRENTWTIT.

" "SECTION - A

ayen - &

Answer any Ten of the following: ' ' o (10x2=20)
Bewos BIF LVIORO. '
1. a) Define valqe of supply.
. gegdad SR, FoEdeRD ?
'b) What do you mean by transaction value ?
S oo0n IR, 20H0R 7
c) What is tax invoice ?
3ort XTBO> TS, 0TI ?
d) Give any two items of lower rate of tax.

3R 3oriod cERFTRETR DUB> BRINUIY HROAD.

[P.T.0.
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" e) Define exempted supply.

DTN TG ENFOTTES> ?
f) What is returns ?

DLIT'F 0BT ?
g) Mention modes of payment in GST.

RO T3 Ao Bortedd, Bed Worodd TNRET DHIVNTRY Bewd.
h) What is refund under GST ?
oo Zd 0TI 7
i) Expand CIN and RTGS

3. 033 o B SO, B TGS, DHORO.
i) What is input tax credit ? | |

BrmRe 30K w5 20w ?
k) What is Revenue Neutral rate ?

esTRed U B SOmCE ?
) Who is distinct person ?
| 03F, B8 D0WTE ?

SECTION - B
7 AN - W

Answer any Three of the following. o (3x5=15)

23500 w.wadﬁﬁ eV30ORD.

, Di.stinguish between Nil rated, exempted, zero rated and non-GST supplies ?

oRp auR OO HgE, AeY, B0 TGS, DTWE TR 22,074,008 BECHES
AoBorY TPYINUAT TJTYANTSY 8920. '

What are the documents required to claim refund ?

SthoRRe FEce BOREEE TS ARRR) ?
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4.

Write a short note on GSTR-1
2.3.@_:6‘.&,3.@0‘.—-1 3 %02 &sdwsé WBOND.

Mr. Sandeep is an air travel agent.- From the followmg information. Compute the
value of supply of services and GST@18% :

Particulars : , Basic fare
a) Domestic travel - 4,00,000

b) International travel -10,00,000

X olalaiemn oV DBERTCIRE D2oLoNTVT. B3 T VBT Bnkdcd SEUs @Hoed

OB FPADT Beine TP, w3y e, 18 0 TORY, 207 1.0y FoELACWO.
QT | BoResd
a) Dedod Trm 4,06,000
b)  eo3vogeod wﬁa# 10,00,000

Umesh Ltd. Belagavi purchased goods for Rs.2,60,000 and sold goods for
Rs.4,80,000 to Arun Ltd. Vuayapur GST rate on purchase is @12% and on sales

@18%.

Compute output tax, input tax credit and balance of GST payable.

03 O. B ARy de, 2,60,000 KON DO Aodorey Lo ©. drchFs
Qw0 dra 4,80,000 nor oooews madoaad 23.0%°.83.0 ch aoaeaoi) =oee3 Sedmo
12 23 Snosud ded Jeim 18 Om, I,

50&335@ 301, PEYTY 3on zsd: 303 'aﬁa@cs TORSTNOE 23.0%°.83. or.b?o
somao@owa

[P.T.O.
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10.

SECTION - C
TR - ¥

Answer any two of* the following: | : - (2x15=30)

Beor _adcﬁ; GV302D.

Explaih GST structure rates.

28.3%7.83. DRSOD TODR, QFORD.
Write a short note on
& gnSINen e wdcd.
a) Excess payrrnent‘of tax due to mistake or inadvertence.
33) g eEIoNd ByF 301 TGN,
b) Tax invoice ':
a"bﬁ RO® e,
c)r Debit note & credit noie
D 'wwusé ore =R uZes
Bﬁeﬂy 'expiain‘ the.rty.pes of retums ?
G T, TONY 'aasa‘fm#a‘% xoégmn 20D,

Ravi Ltd of Mysore sold a product to Adesh Ltd. Belagavi for Rs.4,24,800
(including. 18% GST). The above selling price is not included the following.

a) Normal secondary packing cost Rs.40,000

b) Cost of special packing Rs.10,000 |

c) Dur#ble and returnable pyackit.lg‘- cost Rs.20,000.'
d) Frieght charges Rs.10,000
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e) Insurance charges Rs.30,000'
f)  Advertising expenses Rs.50,000
~g) Free samples Rs.30,000

h) Loading charges Rs.12,000

15 ‘Trade discount "(Nomnal'“anctice) Rs.12,000

Cérﬁpute | ‘
a) Transaction value

"~ b) Amount of GST payable

0 el HREH FBD s OWLE emD TBOR 18% 2.9%°.83. 530 w9reoEe3
de. 4,24,800 =nooEs 23S0 o ST TRt WRRMI. HoedT IRoL WS B
' i@nﬁ@ﬁ@ﬁg{ LERROBIJD,

a) OWRRT, RRGT rowd BN B3, de. 40,000
b) e riowd roPded Fi, de. 10,000
S€) WeeE TS vms; tooBDNR AN Hotd. éwﬁasos: 3, oe. 20,000
d wan aSzés da. 10,000 o
e) amn B, de. 30,000
H  etoad Sy, 9. 50,000
gj g3 BREonsd de. 30,000
h) ceem Sy¥Rt de. 12,000
) @900 Aeed (WRRS, ©30S) de. 12,000
S S0 P,y HE DEIUERE 8.0 .4 BRZRRY, FoROLBOWD.
| | [P.TO.
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11.

SECTION - D

Ngon - B

Case-study (Compulsory) - . (1x15=15)

B30 LR, (BEed T3)

- The following gdods & services procured by Basavaraj Ltd. in the month of

March-2021. ' |

a) Packing rﬁaterials used in a factory Rs.l7,600

b) Goods given vas gift Rs.46,000“

¢) Inputs used for testing the qualit)} control work Rs.20,000

d)- Goods destroyed due to natural calamities Rs.20,000

e) Goods used for repairing the office building and cost‘ such repairs are
debited to P&L A/c Rs.30,000 :

1) | Goods used for captive consumption Rs.15,000

g) Outdoor catering services providéd to the employees Rs.40,000

h) Goods used in the construction of office building Rs.80,000 -

i) Market research services Rs.18,000 |

i) Goods purchased without invoice Rs.20,000

k) Sales promotion services Rs.45,000

I) Paper for photo copying méchinc used in office Rs.5000

From the above information

As an auditor, answer the following questions.

a) Compute total amount of input tax credit available

b) . Comment on admissible & inadmissible ITC items.
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20213788 8oned), wRSTHR O, TS BEEBEOB BB ST BeaSned Tt FENT03
ENevCing : ' |

- .
b)
- X
d)
¢)

f)

g
h)

i)

)
k)
D

BosmF SoQ, wHRE rokd P Syncd de.17,000

ereSEnh DeEend RoBRLD 8n.46,000

RORERE DY TBOLFE TOBRL RO RFSEAR t.20,000
FRANFS DEREBVOR TR FTBAW ©e.20,000 | |

9630 B, DOy INBL WARR JRD DR CP-BR IR DoF
ZoBoRd & oy g, 830,000

20098 WY evmadReNaT ATHNL BrR.15,000
1%, Keoneos LuEn e ABOE G Aeito 840,000

BORFOODE SR FRORE, WRHR IR T°.80,000

Snoee, Jodnegod e d.18,000

Ro% T, BE DOOAT FOBNL 6.20,000

Smowks BE0a Rerido de.45,000 |
T3 TEODHY, Foekdd Te> LT WU TS 92.5000

20D BededooT

a) STREEO 301 WD BRCHT 1), VBT, F0BEHACD.

b) AFTIDE WB) AFFURFIQD BRRTY 3o wSod SRNY wii I3
WRRO. | '
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VI Semester B.Com 3. Degree Examination, September - 2021
ADVANCED BUSINESS STATISTICS
Paper - 111
(Regular & Repeaters)
Time : 3 Hours Maximum Marks : 80

Instructions to Candidates : 1. Simple calculators are allowed.
2. Working steps should be clearly mentioned.

SECTION-A
1. Answer any TEN ofthe following. (10x2=20)
In Linear programming problem, define objective function.
Define Zero - sum game, in game theory.
Define mixed strategy and pure strategy.
What are the needs for replacement of equipment.
What do you mean by Inventory? Give one example.
Distinguish between Lead Time and Time Horizon.
What is optimal solution in Assignment Problem.
In a transportation problem, define a feasible solution and basic feasible solution.

Define Transportation problem.
If D=1200 units per year, C, =40 Rs. P =20 Rs. and 1=20% per year. Find Economic
order Quanity (D-Demand).

SR PR e e TP

5 -1

2 12] have saddle point?

k.  Doesthe game [

l.  Why does a feasible solution to an LPP lie in first quandrant.
SECTION-B
Answer any THREE of the following. (3x5=15)
2.  Write General linear programming problem with usual notations.
3.  Given the two person zero - sum game, with the following payoff matrix, solve the game. Is

the game fair?
g§ -1
3 0
0 -2
—7 -4

[P.T.O.
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Find the basic feasible solution the following transporation problem using North - West
comner rule. Also find the transporation cost associated with this T.P.

Origins Destinations Availability
D, D, | D 3
0, 2 3 4 9
0, 1 3 2 14
0, 4 5 3 13
Demand bj 10 15 11 36

In brief explain Advantages and Disadvantages of Maintainance of Inventory.
Solve the game using dominance property

B, B, B, B,
A(20 15 12 35
4]25 14 8 10
A4l-5 4 11 0

SECTION-C
Answer any TWO of the following questions. (2x15=30)
a  What is meant by equipment, which deteriorate with age? Give one example. (2+1)
b.  Machine A costs Rs. 30,000 and Machine ‘B’ costs Rs. 40,000. Both the machine
have neglisible scrap value and their running costs for different years of service are as
follows:

Year 1 2 3 4 5 6 7
MachineA(Rs.) | 2,000 | 3,000] 5,000 7,500 | 12,000 | 15,000| 20,000
Machine B (Rs.) | 2,000 | 3,000 4,000| 6,000 8,000 | 11,000} 14,000
1. Write down the optimal replacement schedule for both machines.

ii.  Ifoneofthese machines has to be chosen for purchase; which are you suggest as

more economical. (12)
Determine an initial basic feasible solution to the following transporation problem using
matrix minima method and Vogels Approximation method. Compute the transporation costs

for the obtained solutions by both the methods and write your conclusion. (7+8)
TO
D, D, D, Supply
0, 08 04 12 500
From 0, 10 05 06 200
O, 07 05 03 100

Demand 1400 200 200
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9.

10.

11.

a.  Explain Mini Max and Maximin Principle of a game.

b.  Find the optimal solution to the following assignment problem. (5+10)
. Men
Tasks E F G H
A 18 26 17 11
B 13 28 14 26
C 38 19 18 15
D 19 26 24 10

Demand for a commodity is uniform and it is 820 per year. The purchase price of a
commodity is Rs. 42 per unit. Ordering cost is Rs. 28 per order.

a.  If shortages are not allowed and if carrying cost is Rs. 7 per year per unit. Find the
order quantity which minimizes cost. What is the minimum annual average cost?

b.  Ifshortages are not allowed and if annual holding cost is 10% of the capital cost, find
the frequency of replenishment which optimizes the inventory cost. (15)

Case Study (Compulsory Question)

A firm uses lathes, milling machines and grinding machines to produce two types of
equipments A and B. Equipment A rquires 12 hours on Lathe, 4 hours on milling machine
and 2 hours on grinding machine. Equipment B requires 6 hours on Lathe, 10 hours on
milling machine and 3 hours on grinding machine. The total available time on each machine
are 6000 hrs on Lathes 4000 hours on Milling Machine and 1800 hrs on grinding machine.
Equipment A fetches a profit of Rs. 400 per unit and equipment B fetches a profit of Rs.
1000 per unit. Formulate L.P.P. and solve it graphically.

(15)
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VI Semester B.Com.3. Degree Examination, September - 2021
ADVANCED BUSINESS STATISTICS
i Paper -1V
(Repaters/Regular)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates: .  Mathematic tables and statistics tables are supplied

on request.
ii.  Simple calculator are allowed to use.
iii. Working steps should be clearly mentioned.

SECTION-A
1.  Answer any TEN of'the following. (10x2=20)
a.  Define Index Number.
b.  Define Erude birth rate.
¢.  State two limitations of Index numbers.
d  Write two advantages SQL.
e.  Define Vital statistics.
f.  Define Sample and population.
g.  Define stratified sampling method.
h.  Define consumer price Index number.
i.  Name the methods of collection of vital statistics.
] If i’ = 2.6 . Write down the control limits for C - chart.
k.  Name the index numbers which satisfies TRT.
1.  Define Statistical quality control.
_ SECTION-B
Answer any THREE questions. (3x5=15)

~ Explain process control and product control.

[P.T.O.
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Compute Cost of living Index number by Aggregative. Expenditure method.

Items Base Year Current year
Price (Rs.) Expenditure (Rs.) Price (Rs.).
Rice 15 250 17
Sugar 20 80 16
Tea 18 54 18
Fuel 12 48 25
Dhal 10 60 30
Others 8 72 25

The population of a village was 30,000 and in that the female population of child bearing
age group was 8000. The number of live births in the year in the village was recorded as
650. Find crude birth rate and general fertiling rate.

In a class there are 70 students with roll number 1 to 70. It is desired to select the 8 students.
Use the systematic sampling method to determine the samples.

A firm manufactures furniture. To establish the control chart, production manager. Inspected
and recorded the number or scratch marks on a particular piece of furniture. The data for 10

samples are given below.
Sample No. 1 2 3 4 5 10
Scratchmark | 6 5 4 8 3 6 6 | 4
Draw a C - chart for given data and comment on it.
SECTION-C

Answer any TWO questions. (2x15=30)
a. Define the terms. 8)

i.  Crude Death Rate.

il.  Age specific death rate.

iii. Infant mortality rate.

iv.  Maternal Mortality Rate.
b.  Compute Gross Reproduction Rate (G..R.R) for the following data. )
Age (in years). 15-19 | 2024 2529 3034 | 3539 4044 | 4549
Female population 1000 | 950 820 760 650 520 400
Female births 20 60 30 30 20 10 10
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8.  Forthe following data (15)
Calculate

i.

ii.

ii.

iv.

Lasperey’s price Index number
Paaschey’s price Tndex number
Marshal Edgeworth price Index number

Fisher’s Price Index Number.

Base Year Current Year
Items Price (Rs.) Expenditure Price (Rs.) Expenditure
A 10 60 6 30
B 2 24 2 10
C 8 40 5 20
D 5 75 3 45
9. a  Mention the uses of vital statistics. (5)
b.  From the following data. Calculate standardized Death Rates for the two villages and
determine which is healthy (10)
Age group Village A Village B Standard
(in years) | Population No. of deaths | Population No.of | Population
Deaths
0-19 8,000 130 5,000 80 20,000
20-39 14,000 80 10,000 58 30,000
40-59 12,000 160 7,500 102 35,000
above 60 | 6,000 255 3,500 132 15,000
10. a.  Show that Fisher’s Index number satisfies time Reversial Test (TRT). )
b.  Compute consumer price Index number by using family budget method for the year

2015 and 2018 with the base year 2010, by using following indices and group weight.

Items Group Index with base year 2010 Group weight
2015 2018

Food 150 250 35

Cloth 225 400 12

House Rent 135 180 8

Fuel 160 220 10

Others 145 200 9

[P.T.0.
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SECTION-D (1x15=15)
Case - study (Compulsory)

11. A machine has filled a masala packets, 8 samples of 5 packets each drawn every one hour.
Weight of the packets are measured and recorded as follows.

Sample No. Sample observations
(Weight of each packet in gms)
1 2 3 4 5
1 54 44 56 24 20
2 50 48 52 64 28
3 32 48 40 62 36
4 36 24 42 34 26
5 32 54 40 24 32
6 12 36 28 26 52
7 86 38 72 64 56
8 24 18 48 60 40

a.  Construct y -chartandR - chart for the above data and state your conclusion.
b.  Ifthe estimate from past experience of mean and standard deviation y ! =41 5 and
o' =13.5, Draw ¥ and R - chart. Comment on the Results.

(Given,A,=0.577,A=1.342,D, =0,D,=4.918,d,=2.326,D,=0,D,=2.115)
(15)
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VI Semester B.Com.2/B.Com.3. Degree Examination, September - 2021
' COMPUTER APPLICATION IN BUSINESS

Paper - V

Time : 3 Hours Maximum Marks : 80

Instructions to Candidates : ~ *  All sections are compulsory subject to internal choice.
*  Section ‘D’is compulsory.

Section - A
Answer any ten questions. Each carries 2 marks. (10x2=20)
1. Define Accounting.
2.  Who are sundry creditors and debtors?
3. List the different versions of Tally.
4. How doyou activate calculator in Tally?
5. Define budget in Tally.
6. What are the cost categories in Tally?
7. Listany four réports in Tally.
8.  Whatis cash/fund flow in Tally?
9.  Define Multimedia.
10. List the components of Multimedia.
11. Expand MPEG and SGST.
12. What is the use of scanner?
Section - B
Answer ariy three questions. Each carries 5 marks. (3x5=15)

13. Explain the merits of accounting.
14. Write the steps to delete a company in Tally.
15. Define the terms stock items, stock groﬁps, stock category, Godowns.
16. What is Trial balance? Write the steps to display Trial balance with its neat diagram.
17. What is animation? Explain.
[RT.0.
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18.
19.
20.
21.

22,

© o N kW N~

| Section - C-
Answer any two questions. Each carries 15 marks. ' (2x15=30)
Describe in detail basic accounting concepts.

What is voucher? Explain in detail accounting voucher creation with neat diagram.
Explain the applications of multimedia in detail.

Write short notes on : ﬂ

a.  Tally architecture.

b.  Purchase order processing in Tally.

c. LCD projectors.

‘ _ Section - D :
Case study (Compulsory) (1x15=15)
Journalize the following transactions in tabular form to identify groups, ledgers and
Vouchers. ' '

Miss Tanushri started business with Rs. 7,00,000/-
Opened bank account and deposited Rs. 2,00,000/- ‘
Purchased goods from Anvit Private Ltd. for Rs. 7,000/-
Paid office rent Rs. 10,000/-. '

Sold goods for Rs. 80,000/-.

Sold goods to Ananya for Rs. 12,000/-.

Paid Rs. 5,000/- to Anvit private Itd.

Loan given to Mr. Praveén Rs. 20,000/-.

‘Withdrawn cash from bank for personal use Rs. 2,000/-.
Paid cheque Rs. 10,000/- for electricity bill.

—
S
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VI Semester B.Com.2/B.Com.3 Degree Examination, September - 2021 |
COSTING METHODS AND TECHNIQUES - II
- Paper - II
(Repeater/Regular)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

1) Attempts questions according to internal choice in each section.
T, 303R0% VNG 080T eﬁoi%ﬂabmo’mh N} @%ﬁ@ﬁ UZDORD.
2)  Working notes must be given wherever necessary. '
_ ST OTY, &8 WTHNYS) wiENAD.
3) Use non programmable calculators only.
| S0 - R, eTR,Woew e F9,008e3T WIER RIS BT,

SECTION - A
PR - ©
Answer any ten of the following. ‘ (10x2=20)
Peor BE GUZOAD.
1. a.  What do you mean by unit method of costing ?

P [, a-jcgs% Q0TTeD ?
b. State any two features of job costing.

VAMGR 5, VeoFodT TR STLNTI) TewO.
c. What is 'Retension Money' ?

SUPRBROBTOT BED DOWTER ?
d. What is sub contract cost ?

eV 18R 0TTED ?
e.  State any four undertaking where operating costing applies.

Rezvo 3, Dearod a;‘c?pé&bﬁgt WHRE CIRJYTTTR oW VQTONTT), BHAHOAD.
f.  What is abnormal loss ? Give two examples.

SRR, BF, DOBIEL ? TR YVTOHTT BREO.
g. What is process costing ?

B03 Y, DearoDd THS 0TI 2
h. What are joint products ? Give two examples.

%083 SRNPOTTER ? TR NTHTH BRAD.
[P.T.O.
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i. What is P/v ratio ?
em; 'airacaésd@mma‘ QOT3E 7
j» What is BEP ?
BEOTOBP WOTL DOTTERD ?
k. Give the meaning of profit reconciliation statement.
ooyl BDICD TG FoD LFFRY 2R8D.
1. Define marginal costing. |
oS BYR =935, 3RO |
SECTION - B
EAIADI BN .
Answer any three of the following. (3x5=15)
Wesor SweoE LZ0RD. |
2. What are the reasons for dlsagreement in cost and financial profits ? B
| 3, T BB BEOTORD @xsm SPNT. Beowsorsd eﬁr{acb@d% adsam;awaé) ?

3. From the following information, prepare an estimate for Job No. 505.

- Raw materials consumed ....... Rs. 34,000
Direct wages paid “............ Rs. 40,000
Factory expenses ........ 50% on wages.

Ofﬁce €XPENSEs ......... 20% on factory cost.

The quotation should include a profit of 20% on selling price.
8 39NT InkI0WeT WR %ﬁm 505 T esomoe wwojaab éomafoo
3R, SWNTI), LOICIRENATY, wovvvvrevee. Gw. 34,000
368 8RO BRWE  errrene ~ @p. 40,000
BrS weed B, Seg Bedod Je. 50 SR,
3630 Y, ... FoIOF S dzszs ge. 20 TR,
R0 RS0k e Bevmo 20 woyd 2AEOS WSO ‘c’qurbﬂp@m
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From the following information, calculate the amount of profit to be transferred to
profit and loss account in case of contract accounting.

Notional profit ..... | Rs. 1,40,000
Value of work certified ...... - Rs. 7,00,000
Contract price ....... ‘ ' «Rs. 10,00,000

Contractee pays 90% of work certified.

B ND IR0 @Hon Roedon amo R, BREAT cm;mb ool 3«.& a393n
STTOE ORI cﬂscm%b

POV G .o gn. 1,40,000
50RO FORT TPE, v ~ ge. 7,00,000
JEETUS - SR | ge. 10,00,000

SnOeEs> Fevme 90 T, Y, dFPORVE, FRE Bro TR BREES.

Ganesh Transport company operatcs five buses between Vijaypur and Bagalkot:
The distance: between Vijaypur and Bagalkot is about 80 Kms. The capacity of
each bus is 50 passengers. But, on an average the buses runs 20% empty. All
the buses run on all the days of the month August. Each bus makes two round
trips per day. - -

Calculate : :

a) Total Kms and

b) Total passenger Kms.
nssed zodn FoTRODWTL DRCDPT WS Wenwieees m—.;s 5 wnoﬁe.fm 2.8%0293.

DwoDFHC =03) wenwBeesiod ©o3T 80 8.&0. Tdadeomd WA 50 wmﬁ'ssc RO,
BRoOTIE. BT RO FOIRO IF  H,00REIET FROF;FT ge. 20 o=, me‘)oﬁaﬁ

| WmER. o WA Gy 0NeS 2y, IR, LRI, F8odeomd WK T3 OIFP

Q0> "B 0800 SRBIZBT.

& 3oNeS :

a) Wi, $eipedetiTt SO

b) .83 T,0d0edE0 SeipededD’ FORHBOWD.
From the following particulars calculate.

a) P/v ratio (b) Fixed cost
I year sales Rs. 1,95,000 profit Rs. 9,000

" II year sales Rs. 2,25,000 profit' Rs. 15,000

[P.T..
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© 81 FENT BROI0WOT FOROEBCDD.
a) o, IN0OT LIWE  (b) AT =%, .
BrsoIoD IRF : FNRoE Te. 1,95,000 ool Te. 9,000
QOBSoD TRAF : SHoEs Twe. 2,25,000 ooyl de. 15,000

SECTION - C
LN - 3 ' :
Answer any two of the following. _ (2x15=30)
23500 OB TFnert evgoR0.
7. A product passes through three processes namely X Y and Z. The details of the
each process as follows.

Particulars X Y Z
Inputs 500 units (Rs.) : 4,000 - - - '
Sundry materials (Rs.) - 5,200 4,000 2,050
Direct labour (Rs.) 4,500 7,360 2,800
Production overheads (100% on direct wages) - - -
Actual output (units) 450 340 270
Normal loss (% on input) ' 10% 20% 25%
Scrap value per. unit (Rs.) : 4 8 10

Prepare process accounts, abnormal loss and gain account.
2,000 AT SRy X, Y méo Z 20w FoXTED 3,009 IeIRTIMIBE. &, 8030070
»JONUE'@ g, o300 53535 208a3.”

ORBREh X Y Z

030 NERT o0EF AL 500 (Bw.) 4,000 - -

238 3ondd (8R.) - . 5,200 4,000 2,050
333 30 (o) 4,500 7360 2,800
emaa"éﬁo:b Soecded Seg 3dod Je. 100 dmo - -

3.8 DTS ShnTFned 450 340 270
wa“n@s 32 (Deagod Hed) | 10%  20%  25%

rowo 838 (88 chodwrn) (de.) 4 8 10 ~
Rox0Ees wéotoa IR, JoAROKD WF) AR, TR ¥R ASRE, Cn amdnvsy
303080,

8. Karnataka Construction company Ltd commenced construction of a building on
1-1-2020 for a contract price of Rs. 6,00,000. The following is the trial balance
of the company as on 31-12-2020.

Particulars ' Dr.(Rs.) Cr.(Rs.)

Share capital ‘ - 80,000

Contractee's Alc - 2,40,000

Cash at Bank 60,000 -

Charged to the contract:

Materials : 60,000 -

Plant : 40,000 -

Wages : . 75,000 -

Office expenses 25,000 -

Supervisor's salary | 60,000 -
3,20,000 . 3,20,000

The contractee pays 80% of the value of work certified.
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Additional information:

a)
b)

c).

d)-
e)

Wages outstanding Rs. 5,000
Depreciation on plant at 20% p.a.

Plant costing Rs. 5,000 was returned to stores on 31-12-2020 and plant the
original cost of Rs. 5,000 was destroyed by accident at the beginning of the

contract.
Materials at site on 31-12-2020 was valued at Rs. 11,000.
Cost of work done but not yet certified amounted to Rs. 19,000.

Prepare contract account and also give the balance sheet of the company as

on 31-12-2020.

T YW QWRFD goRRODIT  1-1-2020 dozd Te. 6,00,000 oD nan
FORBI) T5,009=T 8. BoTACD FURT FITONT DJeF 31-12-2020 B0 |03
Zo¥ TEICID B3 gPNT033.

Fapnioa o ~ Dr(Rs.) Cr.(Rs.)
3630 0BT - - 80,000
ro8r dwss and - 2,40,000
239, 083QTOR SN e, | 60,000 -

rhant 3ukE SRAtS dszi@:o

xogonsd o | 60,000 -

o3, (MFT) - 40,000 -

30 75,000 -

8630 %, | 25,000 -
Boe250083 eI | - 60,000

3,20,000 3,20,000

3R 3RuED 3 RF0RVL, FORT widan e 80 o), Tea Rorwod BRBITIT.
BYR wRkd !

a)
b)

c)

d)
€)

08 UPOTE 8RO Tr. 5,000

"-mdd RSBLODTY, oXe T 3e. 20 ToB Sriodnded.

dra 5,000 = ?.36033 *addwm gong,eed 31-12-2020 80T &0TTOINIENS.
TR ST Slelolhials] dra 5, 000 e zﬂdo:b *aﬁd BDTISTE, FOVINAT.

31-12-2020 Do weRcde LTI IoNT WS dJa 11,000.
. BnRWT R 3y ReSORTIe em@CSCSJ gn. 19,000.

ran aJDé‘ 30300 =R ﬁo@aé’ooda eE B8FoY 31-12-2020 Bowd> B3
3R80.

[P.T.O.
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10.

The Sagar Transpert Company has been given 'a 40 km long route to run a bus. The
cost of a bus is Rs. 20,00,000. It has been insured 5% per annum. The annual road
tax amounted to Rs. 26,000. Garage rent Rs. 1,000 per month. Annual repair is
estimated to cost Rs. 24,000 and useful life of the bus is 8 years.

Salary of the driver and the conductor is Rs. 10,000 and Rs. 6,000 .per month

“respectively. Manager's salary Rs. 12,000 per month and office expenses Rs.

1,000 per month. Petrol and oil will cost Rs. 12 per km.

The bus will take 3 round trips per day carrylng on an average 40 passengers
in each trip. The bus will run for 25 days in a month.

Find out :

a) The cost per passenger km.

b) Fare per passenger km. If the company wants to ‘earn a profit of 20% on
cost.

. AONT 3R,T3petr F0TANR 40 .80, DT T3S WA, LATL BREBINT. w~§ '
SPw, e, 20,00,000. WA SRFY Je. 5 508 Q> ANBRGNT. &FS OF 98 TR
26,000. rm,Sers wort aGT9 . 1,000 o oBe0 S, Swr, oo 24,000 worte

AT RSSO 8 SmERD.

" W8 SONPT B, @O° Tore BOBED Rows ©R08,z0weN dr. 10,000 Tonre 80.6,000
‘adaszj m&w‘ zowd oe. 12,000 ma Soren DR o DF T3 Sonen
3%.1,000 fadaézj TR, e T @9@ 31)?.31)&-’ 0,8 8.0e.% 3. 12 fad::a‘d .,

2080, wé@é 3 nﬂéom" woﬁaasa mde TN RTRO 40 wod)btéidm =8
5259 agojsa 33, WA, éomf@ 25 az=% ch:éd
For> BB -
a) ®,8 TyoOReBT .00, [,
b) domRain BuiRrivs SuE sbed de. 20 O, ooy HOREERES iRt BBy
=8 dzﬁoz:rs‘ 3.20e. BORGRBOWD.
From the followmg figures, prepare a reconcilation statement.

Rs.
a) Net proﬁt as per financial accounts ........ ' - 15,000
b) Works overhead under recovered in cost A/c.. 3,000
¢) -~ Administrative overheads over recovered in cost A/c.... 6,000
d) Depreciation charged in financial A/c ..... 10,000
e) Depreciation recovered in cost A/c .... R 14,000
f) Income tax provided in financial A/c .... 10,000
g) Bank interest credited in financial A/c .. - 30,000
h) Stores adjustment (credited in financial A/c) .. 2,000
i) Value of opening stock in cost A/c ... 52,000
j)  Value of opening stock in financial A/c .. 54,000
k) Interest charged in cost A/c but not in finangial A/c ... 6,000
1)  Good will written off.. 1,000
m) Provision for doubtful debts ..... : 4,000
n) Value of closing stock in cost A/c... 50,000

0) Value of closing stock in financial A/c .. 47,000
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3

SUt ERHITOT SRbacI0n ARFHD TOHE) IcIRORO:

oR.
a) &8 AT FTT 0o ... - 15,000
b) dzgd PRTO, Y SINT GVTT TSes, 55, . 3,000
c) TALY, TP} STORT BB a.:‘d.raei ﬁ?:g’d 6,000
d) ei’ﬁ mﬁd ,TIT ARTP fﬁis‘@ﬁoci) ..... : 10,000
e) 523 pops CS R,TO0 NaoTP Q:BEGNCSD ‘ 14,000
f) c?ﬁ % «:S@ S50 308 S~ m@m o 10,000
2) moﬁ u& c% TR, 2553 BRRT . ' 30,000
h) ciis‘ I8 d@ ﬁfaemﬁw BRROTIEH e':’m@zja (cr) .. 2,000
i) d?éj E'Sa?\écd w@d &ToRE 8O3 Ud . 52,000
i) ei’ﬁ mﬁd ,T0 STORT é@é B3s .. 54,000
k) 66 D] CS@D s30T d?ﬁ 3 c.')’cf') 65333 A=) aa&cﬁ.) 6,000
1) I\Dmm ciatad) 53%?:53 1,000 -
m) XoIRAT FONPT @5@5 TRRDY, ... 4,000
n B, m:dcj B0 3eEeDd T S . 50,000
0) e% % cs 2,590 ZRHOD ses 33 . 47,000

SECTION - D
YN - B

Case study (Compulsory) ’ | (1x15=15)

_ T80 eﬁ_qsso:bw - fca'%oia q;az | ,
11. Videocon Company produced and sold 300 TV sets during the year 2020.
Following are the details.

Rs.
Direct materials ’ 7,80,000
Direct wages 4,20,000
Factory over heads 2,10,000
Administrative overheads ' 1,41,000
Sales price per unit ' 6,000

For 2021 it is estimated that :

i) Each TV sets needs materials worth Rs. 2,700 and direct wages Rs 1,500.
if) Factory overheads are recovered as a percentage of direct wages.

iii) Total administrative overheads are fixed at all levels of activity.

Prepare statement to show profits per unit if the selling price is reduced by Rs.
100 each. Actual output and sales 500 TV sets in the year 2021. Give reasons

for decrease in profits and suggest how profits to be increased:
[P.T.O.
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VI Semester B.Com.2/B.Com.3 Degree Examination, September - 2021

INDIAN FINANCIAL SERVICES
Paper - III (Elective)

(Repeaters/Regular)

Time : 3 Hours : : Maximum Marks : 80
Instructions to Candidates:

1) Answer all the sections according to internal choice.
$030F GSORNN LITLD, D APNNTTY, BVZOD.

2) Use of simple calculator is allowed.
FRBRT, 53, UL, BRE, WIRWTITD.

3) Question No. 11 (Case study) is compulsory.
%3 11 (3060 VPR F@I0D.

SECTION - A
QRN - @
Answer any Ten of the following questions. i (10x2=20)
BINS WeTon BY GVI0A.
1. a. State any two features of financial services.
TEITORD ACING CINPYTIE DT @isaﬁe;aig{ 3930.
b. What is credit rating ?
WSS B,eed 0TTED ?
c. What is Rights issue ?
TIT eRF 0TTed 2
d. What do you mean by underwriting ?
LEOBOYOS HI0RS omded 2
e. What is lease financing ?
7ieed BEITOA DOTWBE ?
f. What is Domestic Lease ?
Tedecdd rieed Qowded ?

[P.T.O.




g.

UL TR LT @

Give the meaning of Factoring.
P, BOON 0TS ?

State the two fypes of costs involved in Factoring.

F,EDOFTOUWRS. TR T50R SIYRv) 30R0.
Expand : (i) NSDL (i) CDSL
HRO% wdowd : (i) NSDL (ii) CDSL

- What is Dematerialisation ?

£92398¢800 NOWTER ?

What is a Depository ?
BOrR,®3 F0R 0T ?
What is Loan Syndication ?
MOT B T3S D0TTE 7

SECTION - B -
NN - W

- Answer any three of the following questions.
3PNIPNYY, Wemors WodE LvBdR0. '

Briefly explain thé importance of financial services.

BeowoRd> Aedny TIITY BodFon QTORO.

What are the objectives of dematerialisation ?

2208630600 wzfgzﬁﬂ% Ry ?

What is Merchant Banking ? State its objectives.

R mso& éodéezﬂa 9 &30 emz%esm#a% 3920.

Distinguish between Financial Lease and operating lease.

36631/F310

(3x5=15)

DBEATORD Tieed Tone TooFVFrmeso 1ieed AIng SBODT [EQANTIY 28000.

6. From the following information, calculate cost of Factoring and Advance to be
paid by the Factors. '

1)
2)
3)
4)

Annual credit sales : Rs 20;00,000
Average collection period : 90 Days
Factoring commission : 2% on receivables

Interest on Advance @ 18% p.a. after holding 10% as reserve.
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10.

11.

3: $UNT I3cH FTODOOT IO 33, worin - 30" DedeiemnddI Soonz
mam F0WRBIRROWD.

1 mm\rs Cale Snoee3 : dn. 20,00,000

2) Xoo%d SRROD 30 : 90 AINSL

3) oo DR : WISy He3T Boed 2%

4) maoms 2T ﬁoe@s w& z?esm 10% d—' DRwE &@C)é&)ixaow 3036 18% p.a.

SECTION - C
S ogen - F
Answer any two of the following questions. ) - (2x15=30)
FNIINGE), Wezod ada‘!! VS 0D,
What is Dematenahsatnon ? "What are its advantages and disadvantages ?
e P3eB8 QOB 7 ©TT Mr-BReENW o3RSy 7 :
Define financial services. Explain the different types of financial services.
BeogORD RN w9, .93 Qe@D. BEITIRD KeSNY DG T,THONGIY, D[OAD.
What is Merchant Bankmg ? Explain its ﬁmctlons
SIFE W00 DOWTES ? VWO FoOLFNPR), DSORD.
What is Factormg ? Explain the merits and demerits of Factoring.
FR,BOON DOTBER ? PI,IOONT T odReEINL Torie zsmmam NTORD.
SECTION D
. RN - B
Case study (compulsory) (1x15=15)
T¥o PR (FEOD) |
The followmg data relates to a lease proposal
i) - Cost of machine Rs. 30,00,000 with salvage value of Rs. 2,00,000 after the '
expiry of 5 years. |
ii) Cost of capital is 14% p.a.
iii) Lease period 5 years
iv) Lease rent Rs. 9,00,000
v) Tax rate 30% p.a. '
vi) Depreciation : 1* year 7,50,000, 2“" year 5 60,000, 3d year 4,20,000
4* year 3,20,000 and 5* year 240,000
vii) P.V. factor at 0.14%

-

1# year - 0.877
2" year - 0.769
39 year - 0.675
4% year - 0.592
5" year - 0.519

You are required to compute P.V. of cash inflow and advise the company whether
it is financially profitable to lease out the machine. :

[P.T.O.
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B3 FYE0E BRI ferd JWTE NOLORAL:

vii)

'Zﬁe nRE
330 IAFE

L3

oX0BR, 0T WPy, de. 30,00,000 0w SHFE S03T 00T eme;@ 5{330
an. 2 00 000 -

20RY 3%, 14% IADEN

Rerdod ©BY 5 IREND

B8 ST SRS e Reed do. 9,00,000
3o @S 30% WoaFd

- Re3EP 13 mas - 7,50,000, 2:5¢ aw- - 5,60, 000 33e ms- - 4,20,000

43¢ IFF - 3,20,000 Toriw S I - 2,40,000
Besm 0.14 O 308 50003 ABE IPOF
13¢ =7F - 0.877
0.769
0.675
0.592
0.519

43¢ @
538 =mF

- B8 B0edT Y, BRkDRY, BBRURSA, BHT LITOIT BT [WPQ,TIY, FoBLACWD.
Tonm ojoo;og,wabq 711663 QETYTH CoPTIHOTRe T TR zoagpe; FOTAN SRNFEBFS TED.
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VI Semester B.Com.3 Degree Examination, September - 2021
INCOME TAX - IT
(Compulsory)
Paper - 1I
(Repeater/Regular)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

1) Attempt all sections according to internal choices.
2) Give working notes wherever necessary.
3) Simple calculators are allowed.

SECTION - A
TN -
Answer any Ten of the following in one or two sentences. (10x2=20)
e5on BZY LVZOA0.
FICo What 1s short term capital gain ?
BT WORRST ©oydSonsesd ?
b. Give a formula for calculation of indexed cost of Acquisition of assets.
33 0RO R 08 [, 7 TITW FIRVFD ERR0.
c. What do you mean by set off of loss.
TR BROTVETF DOTTERD ?
d. How do you treat dividend for income tax purpose.
gocd 3OR VT EITN SRIARL ) BER TWONEIROND ?
e. Write any two donatlons 100% of whxch amount 1s allowed as deductlons w's
80G.
o0 80G RoD Je. 100 Sm), 3EIF, wImords ciRYmEte ORI teedrinemy
WBC0.
f. What are casual incomes ?
E;"f,oﬁ ESTTOCIONTORTY) ?
g. State the rate of tax in case of winning from lottaries and give formula for
grossing up.
R0 BTOHT IOR B0 Bewd WI) ARY HHeD LURRART ReF, 8GR0
h. What is the amount of deduction for section 80 DD purpose ?
WORTY TIT TFIONYRY, BePO.

[PT.O.
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i. Who is called as an individual ?
adRTRY, &3 0w FENFI ?
j- What do you mean by commercial securities.
301 W0F WEE, PI,To B, ?
k. State the types of capital gain.
Gaplderante.] :do:o;o:ia PHFT ooyPRorsedd ?
l.  Who is non working partner ?
FOODFIRF EORT TOLOTWOIOTTTY ?

SECTION - B
PN - W
Answer any Three of the following. . (3%5=15)
e3eor &RUE GUZ0ORD.
2. Mt Kumar furnishes the following details for the previous year ended 31-3-2020.
a) Interest on securities Issued by Govt. of India Rs. 20,000.
b) Winning from Lottaries (Net) Rs. 14,000.
c) Interest on debentures of xyz Ltd. Rs. 3,600
d) Dividend from Indian company Rs. 2,000
e) Income from non agricultural land Rs. 6,000
Compute his income from other sources for the assessment year 2020-21.
31 =ouwr 2020 S S@E ﬁma”ﬁra@b@dﬁ 3¢ VINTCD S NS SREb30DI)
QeRTI.
a) e03, WO PG BYn edS w@ . 20, 000.
b) oaé&@o:nod Cilvte] eﬁmodo (dz$) T, 14 000. ’
C) Xyz 80T 830230 wa de. 3,600
d) RT3 FoTRCWOT 208 ST BR. 2,000
e) FaodeIT glroos word &mad de. 6,000
a’mﬁdﬁ’ WRF 2020-218 330 930 Bweonod wor st o8 Totd.
3. From the following information compute capital gain of Miss .i’oqa for the
assessment year 2020-21.

Particulars Jwellery
Year of purchase 1995-96
Year of sale 2017-18
Cost of Purchase 1,00,000
Fair market value on 1-4-2001 1,50,000
Selling expenses 10,000
Selling price 10,00,000

Miss Pooja has purchased a residential house costing Rs. 5,20,000.
The cost inflation index for the year 2001-02 and 2017-18 were 100 and 272
respectively. He was not owning any other residential house on the date of sale.
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®. TP FRD 35 A BT I3 3080H [ 2020-21 § BT

oaz;:addgl eiigaaéc.

AT Te] &30
00D IRF 1995-96

 Snoont SIF 2017-18
2000 3, 1,00,000
om08 1-4-20013
odpery, BR0BY B3I 1,50,000
RRoKT SN0 10,000
BRAT S 10,00,000

. PP B[RO MNOT ©BODY, oFody . 5,20,000 g S0OATRT. wee TRTED
Row,08 SuRy) SRF 2001-02 o3 2017-18 g ooz,oson 100 08 272 ad3d.
WROIT DIV0TTOWD [IsL odnsycde o aﬁaﬁoﬁoﬁg BRODTJDY,

4. Mr. Prabhu submitts the following information pertaining to the previous year
2019-20.

i) Income from salary Rs.10,00,000
ii) Loss from self occupied property Rs. 1,50,000
iii) Business loss Rs. 4,00,000
iv) Interest from bank Rs. 2,00,000
v) winning from lottaries (gross) Rs. 1,00,000

Compute his gross total income for the assessment year 2020-21.
SRl SR 2019-20 § Jowodrmod de Tgh 81 NI [WRESODRY VeRWT.

i) [e3I swocd dn. 10,00,000
i) AEARE P T dr. 1,50,000
i) ==wo0x TR dr. 4,00,000
iv) 9,083 WA GwOD . dr. 2,00,000
V) 0D &oodd ﬁc%cj% (28) dr. 1,00,000

eFE oas 2020-21 i% (3Co30R) 8183 2830, emoﬁaaaoq e?ﬁt =&D.
5. The profit and loss account of partnership firm for the previous year ending
- 31-3-2020 is given below.

Rs. Rs.

To interest on capital 12,000 By Gross profit b/d 3,10,000

" @12% p.a.
To expenses 68,000
To remuneration to working

- partners 1,65,000
To depreciation 30,000
To net profit 35,000

3,10,000 3,10,000
[P.T.O.
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7.

Note - Depreclatlon Allowable as per rules Rs. 20,000.
Compute the total income of the firm for the assessment year 2020-21 assuming
that the firms satisfies all the Conditions of section 184 and 40 (b).
31-3-2020 © esmodo BEE BT 20T TOLOMOOF ~o~od; Y -Tow W3
gUnTo3!. |

on. an.
Soars Be. 12 o) wommed 12,000 S0oTH[TA 2k, wotd 3,10,000
Boeds w3

68,000

BODFI0S TS Jog=s  1,65,000

P 30,000

Y ooyl 35,000
3,10,000 3,10,000

zipd : eTRad 30 HRAVS D0 XIRe GRY Ue. 20,000 Fogad Fuo 184 W
40'(b) e Boynesy PG 0% GOk, B00E0E SRF 2020-21 3 THeorRDE Hoged
=) emoﬁaaab socsoaoaowb

What is capital gain ? What are the transactions which are not considers as
transfers?
WO PPSoTSeR 7 SRS IT[HIONWD BWEDEH DO ToneSRTrmOR, ?

SECTION - C
den - 3
Answer any Two of the following. (2x15=30)
Bt $ONS ieTors QUBE LVB0A.
From the following partlculars given below, calculate the amount of Deduction
allowable under section 80C in case of following individuals.

Particulars Mr.A Mr.B
Subscription to NSC(VIII issue) 40,000 20,000
Accured interest on NSC 8,000 4,000
5 years term deposit in SBI 10,000 6,000
Life insurance premium (on wifes life) 6,000 -
Life ‘insurance premium (on fathers life) - 14,000
Subscription to home loan Afc 1,00,000 40,000
(National Housing Bank)
Amount paid to unit linked insurance plan 16,000 -
Payment towards deffered annuity plan of LIC - 5,000
Subscription to units of specified mutual funds - 7,000

Investments in approved shares and debentures 60,000 _ 30,000
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FATnef Mr.A Mr.B
oa%eoin eeZoed I3, (VI 3¢ Ind3) 40,000 20,000
eme:)aaoi) =3,nd ﬁae@aﬁ WR - 8,000 4,000
=F.20. 503, 3@ 5 @IRFAS wa@ Bee3ed 10,000 6,000
am Bo(R0BI0D 2eR) 6,000 -
QR B0 (oo 23ew) - 14,000
oamo:b ria DRIFED 2T, 033 TOT 503 1,00,000 40,000
o:ba‘éoes e’)oﬁ AVevel) 5:@ Joood 16,000 -
=Exo JOVION 6 odraeué (LIC) - 5,000 -
:orias m TS Q0D BREE - 7,000
SR, 3 wtics Beth ToNR OTZ NP TRRS 60,000 30,000

8. A, B and C are partners in a ﬁrm sharmg profits and losses in the ratio of 2:2:1.
The profit and loss A/c of the firm for the year ending 31-3-2020 is as follows.

To general expenses 3,04,000 By Gross profit 8,00,000
To interest on captial
at 14% '
‘ A 28,000

B 16,800

C 11,200
To salary to B 2,40,000
To commission to C 1,20,000
To rent to C 48,000
To net profit 32,000

8,00,000 8,00,000

'B'" and 'C' are the working partners. Compute the total income of the firm and

the taxable income of the three partners in' the firm.
A, B &3 C wotd oy o?o@ TRLOIMWCORE), 2:2:1 BRTRITG, TRy FR) aaacdom
aowmwémd 31-3-2050 A maao:bmmd SRFE oogd- _30R 203 81 FINT0T.

RORRS, mﬁm 3, 04 000 283 oazp' 8,00,000
wocﬁm@d woed WA,
(14% dﬁg)
A 28,000
B 16,800
C 11,200
‘B'R 3e33 2,40,000
‘C'R 3ooFS* 1,20,000
‘C'R iR 48,000
RE oY 32,000 :
" | 8,00,000 8,00,000

[P.T..
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10.

B moie 'C' TehrA08 TReTRCTINGIE) THOOTRS ROROD 2D, SR, TR
R0RT 30RR LITET SIITIY 307> HBOWO. ‘
Mr. Ramesh has transfered the following. capital assets during the previous year
2019-20.

Particulars : Residential Non listed Self generated
House Shares good will

Sale Proceeds of the assets 14,96,000 11,46,000 3,42,000

Date of sale of assets 1-6-2016 20-9-2016 1-2-2017

Cost of Acquisition 1,25,000 50,000 -

Year of Acquisition April 1984 April 1970 -

Fair market value as

on 1-4-1981 - 1,00,000 -

He purchased a new residential house for Rs. 1,50,000 on 15-12-2016. The cost
inflation index for the financial years 1981-82, 1984-85 and 2016-17 were 100,
125 and 264 respectively.

Compute his taxable capital gain for the assessment year 2020-21.

20008 SRE 2019-20 8, B¢ Taded oI B FINS GANYRY SToF OATT.

20 . oA CIROTEIOE  RROFS
¥ Begorivo Romomd

z3yrie SRoO0E wos T 14,96,000 11,46,000 3,42,000
ey ARos Dm0 1-6-2016 20-9-2016 1-2-2017
Doed 3, (3P) 1,25,000 50,000 -
DOONT BRE Do 1984 2ot 1970 -

c3nen, APCIBE, TR

(1-4-1981 3 ag303) 1,00,000 .

L5

noos 15-12-2616 domd e oo, 1,50,000 § BaR BoScdeonsy deoRmg. ol
TR0 RRem, 08 [BYR B FYNT0:3. '

1981-82 : 100; 198485 : 125; 2016-17 : 264

Ss3re8 =8 2020-21 He 0080 SRET, WOBTT SpiAD Y SEpR0 [RAD.

Mr. Chetan has-paid the following Donations during the previous year ended
31-3-2020.

a) The National childrens fund 2,00,000
b) The prime minister's national relief fund 1,00,000
c) A medical college _ 4,00,000
d) An approved charitable institution 2,00,000
e) For repairs and renovation of Notified temple 50,000
f) Aid to poor students 20,000
g) Books donated to an Approved college 30,000
h) Municipality approved for family planning 1,00,000

i)  Chief ministers and lieutenant governors relief fund 1,00,000
Chetans gross total income amounted to Rs. 62,00,000 which Includes the long
term capital gain of Rs. 2,00,000.
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Calculate the deduction allowable to him ws 80G for the assessment year 2020-21.
008 31-3-2020 g S50 BLaToRd W B¢ 133 B[ B FUNS Segdricdomty
QeRTVT.

L a)  Oogeod %3¢ A6 2,00,000
b) Tpes oy ne To&ecd> TOBIT DY ~1,00,000
¢) T seod ST, 00D 4,00,000
d) I3 B33 33 ) Ro% 2,00,000
) Xeus rbacd @y S SReFTETYN 50,000
) wB amernenr 3mooh 20,000

8 RIn3 Tha amyedd Kopnd deesn 30,000
h)  sedow cdeendmon SRS TS Sesnt 1,00,000
) D008 D TN TS TOFTIT [P 1,00,000

11,

Be33 90 Wi, sreadsy de. 62,00,000 NYINT), B0EY DEFIFSE LoBEmes
P Tr. 2,00,000 2pad.

30UB0E Wae 2020-21 g RowoRAB03 eSS e930R s 80G BREDY ARITITT
5@36&5& e%abasad WB0.

SECTION - D
QPN - 3

Case study (Compulsory question) (1x15=15)
IO B3, (T30E @95, 00)
Mr. Ananthan purchased a house in the year 1995 for Rs. 1,00,000. He also made
the following additions to the house.
a) Two rooms at a cost Rs. 20,000 in the year 1998.
b) First floor at a cost of Rs. 50,000 in the year 1999,
¢) Two bathrooms at a cost of Rs. 25,800 in April 2007.

He sold the above house on 1-7-2018 for Rs. 10,58,400. The fair market
value of the house as on 1-4-2001 was Rs. 1,80,000.

The cost inflation index for the financial years 2001-02, 2007-08 and 2018-
19 were 100, 129 and 280 respectively.

- Compute - his capital gain for the assessment year 2020-21.

Case Study : you are required to advise the assessee as to which course is
beneficial to him between the following,
a) He should not opt. for the fair market value.

b) He should opt. for the fair market value.

[P.T..
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be 53033 eI 1995 T, 2.0z oIy de. 100 000 3 DOCOAT. QT B4
SO B SNSRI, FeCRATTD.
a) . 1998 ©d dw. 20, 000 3y, WRB 0> EReRBNTSY QFATT. -
b) 1999 o dr..50,000 da;s RNE IATOTe IR IFATITO.
c) et 2007 0¢, dr. 25,800 33 IR@ HTE TWIT BRCRNRYEY, DFATITO.

| 8 oed HmoAT SoSod dTecd 1-7-2018 omd dn. 10,58,400 & =noow
=RAGD. HF0os 1-4-2001 Totd ée SoRod odeery oD BT, 2P, an.
1,80,000 0H3as.

wde B, TI0D oLy 08 epFd IRF 2001-02, 2007-08 =02y 2018-19 g 100,

129 &= 280 eﬁafo% :nmn Q0333
800805 aﬁur 2020-218 8533 wored wRgIRI) o, SRED.
3,800 VLoD ¢ VY ﬁdmé‘c’bﬁ B3 FPNIPINTS, oimw 3,80 em:fmo.‘oﬁ QOWOTI), RO
dezeIesd.
a) 3 a'l:aezi S08ES, tidoday 803 RREERYOTC.
b) 3D oimeﬁo, mw&s z:'s’ei’o:bda eso.’o ma&:aomﬁ




